
EP: 3

EW: 1046

2x 4

6

7

A

A

B

B

6

8

7

6

 A - A 

2x 4

 B - B 

6

8

1 x IPE120 1046

1:5 S235JR

EP: 3

EW: 1043

2x 4

53

50 49

18

7

A

A

B

B

53

13 13

7

53

 A - A 

2x 4

 B - B 

50

18

13

1 x IPE120 1043

1:5 S235JR

x 11035

0 0.01 04.6200Pręt gwintowany 12x200 4.6 4-

68.5 0.33 0.01S235JR77.3BL10x77x68 252

80 0.9 0.02S235JR120BL12x120x80 17

64 0.55 0.02S235JR110BL10x110x64 16

29.8 0.14 0.01S235JR105.4BL6x105x30 24

0 29.8 1.36S235JR2865IPE120 13

0 0.04 08.840Śruba - M12 x 40 1

0 0.01 0200 HV0Podkładka - 13 2

0 0.04 08.80Nakrętka M12 1

15 31.82 1.42Razem:

x 11038

0 0.65 0.03S235JR120L60X6 212

80 0.9 0.02S235JR120BL12x120x80 17

64 0.55 0.02S235JR110BL10x110x64 16

29.8 0.14 0.01S235JR105.4BL6x105x30 24

0 0.01 04.6200Pręt gwintowany 12x200 4.6 4-

0 29.8 1.36S235JR2865IPE120 13

11 32.05 1.44Razem:

x 11043

64 0.55 0.02S235JR110BL10x110x64 153

70.4 0.31 0.01S235JR73.6BL10x74x70 150

70.7 0.3 0.01S235JR71.7BL10x72x71 149

0 4.72 0.23S235JR2504.3PŁ40X6 118

0 0.65 0.03S235JR120L60X6 213

80 0.9 0.02S235JR120BL12x120x80 17

29.8 0.14 0.01S235JR105.4BL6x105x30 24

0 29.8 1.36S235JR2865IPE120 13

0 0.01 04.6200Pręt gwintowany 12x200 4.6 4-

0 0.04 08.840Śruba - M12 x 40 1

0 0.01 0200 HV0Podkładka - 13 2

0 0.04 08.80Nakrętka M12 1

18 37.47 1.69Razem:

x 11046

0 0.65 0.03S235JR120L60X6 18

64 0.55 0.02S235JR110BL10x110x64 16

29.8 0.14 0.01S235JR105.4BL6x105x30 24

0 29.8 1.36S235JR2865IPE120 13

0 0.01 04.6200Pręt gwintowany 12x200 4.6 4-

80 0.9 0.02S235JR120BL12x120x80 17

10 32.05 1.44Razem:

C

C

C

C

7

 C - C 

7

 C - C 


